298 15K







Cg= Ng/V

1 dn,/V _ 1 dcg
v, dt v, dt
(4-1-3) aA +bB - yY +2Z

(4-1-3)

U:é:
v

1dn, _1dn, _1dn, (4-1-2)

—ad -bd yd zdt
B I | B




S3H, g +N, g =2NH; ¢

) = 1 an2 1 dnH2 _ 1anH3

-1 dt -3 dt 2 dt




Z
L , =dc,/dt

{CA} T

N\ {-dewdt)

N\

1t}







H, g +1, g =2HI ¢

HI
1 1,+M - 1+ +MP°
2 H,+1+1 - 2HI
3 I+1+M% o [,+ M’

H.,+2=2HI







Cl, +M
Cl+H,
H + Cl,
2Cl + M

- 2Cl + M
->HCl+H
-HCI + Cl
- Cl,+M

Br,+M - 2Br + M
Br +H, -HBr +H
H+Br, -HBr +Br
H+HBr -H,+Br
2Br+M -Br,+M




HCI
Cl,+M - 2CI + M
Cl+H, -HCI+H
H+Cl, -HCI+Cl

2Cl+M -CI,+M




(iii)
Cl-Cl)

( 2CI+M - Cl+M

10—10° HCI

(1)




2)H+0,+H, -H,0O+ OH
(3) OH +H, - H,O+H
4H+0O, -OH+O

5 O0+H,- OH+H




6)2H+M - H,+M
(H’OH+H+M - H,O+M
(8) H + N













K /2=K, /1=Ky /2







1
|,»2 Br,— 2Br







(4-2-11)

X,=1/2
4-2-11

(4-2-12)




A_B+C 320 k=22x 105sl
A
A

1
1-X,

1-x, = 0.8880
X, = 0.1120

=kt = 2.2x10° x (60 x 90) = 0.12

11.20%




O,+H -OH+O0
Cl,+H -HCI +H

1 2A - -d¢,/dt = kc?
2 A+B > -d¢/dt = kc,c;




= kt
Caod—Xa)

1
kc o

t1/2 _




(4-2-15)




y

_dc,
oli

= k(CA,O - y)(CB,O -Y)

(CA,O B y)(CB,O - y)




y dy ot
0 (CA,O _ y)(CB,O _ Y) 0

C C —
n B,O( A0 y)

kdit

= kt (4-2-17)

Cao (CB,O B Y) )

Cao
=(Cpo ~Cgo)kt +In—— (4-2-18)
| | Cg.o




21+H, - 2HI H+O,+H, - H,O+OH

3A - -dc,/dt = k¢,3
2A +B - -dc,/dt = ke ’cy
A+B+C - -dc,/dt = kc,CiCe

~dc,/dt = kg3




Xal(2=X,)
ZCi,o 1- XA)2

= kt (4-2-20)




4-2-2 A

Ca o=1.00mol-dm-3 U ,~0.01mol-dm-3-s'

1 2 3
A




90%

Cho _In10 _ 2.303
0.1c, , K 0.01

s = 230.3s

— 2

U, _ 0.01
Cao 1.00°

mol ! dm*® % = 0.01mol ~* [dm® ™

A |
kc,, 0.01x1.00

s=100s

90%

9 _ 9
0.1c, , | kc,, 0.01x1.00

s =900s




v =kc3
o _ 001
., 100°

mol~ [dm°® 3™ = 0.01mol ™ [m° 3™

_ ¢
~ 2kc?, 2x0.01x1.00°

90%

s=150s

1 1 1 10° -1

[ = — =
2k[(0.1c:A,0)2 cf\,o] 2ke;

. 10%-1
2x0.01x1.00°

s =4950s




Van't Hoff




Arrhtnius

— —Ea/RT
k=k,e

4-3-1
In(k/[K])=-E_/RT +In(k,/[k]) (4-3-2)




In{k} 1/(T/K)
In{K}

4-3-2
4-3-2

dink E,

dT RT?




40~400kJ-mol1

100 kJ-mol-1
300K 10K
400K 10K
K 150 kJ-mol-1




4-3-3

3 T

Ea

k k e_310R _E, (300-310)
10 — 0 — @ R 310x300

I :300 =
e 300 R
kO

_100000  (~10)
— @ 8314 310x30 =~ 3 [

100000 (-10)
Ka1o - X
— o 8314 410<400 ~ 2 1

k400

10K

Ink T



3 T

_150000  (-10)

S0 _ o 8314 310x300 ~

k 300

_150000  (~10)

k410 — @ 8314 410x400 ~

k400
110/,4



4-3-2
5484x 102s1 1.080x 10“4st
k—T 2

Ink—: 2 ( -

k, R T, _TZ)

1.080x10™" _ —Ea( 11
5484x1072 8314 28315 333.15

)

E_=97730J-mol*
Ea 10 K 4-3-2




In(k/[K])=- E,/RT +In(k,/[K])

97730
8.314x283.15

In(L.080x10™) = —

+n(k, /s™)

In (k,/st) =32.374
kT

In(k/s™) = - 0, 32.374
8.314T / K

In(k /sy = =212 | 35 374
T/K

30
30 T = 303.15K




In(k/s™) = - U~ 32.374
303.15K / K

Kyy =1.66%x 10-3st 1000s

t =1000s




300K
10kJ-mol-1

K, | k; = ez ED)/RT — g-10000/8314x300 — 1 / 5

55 10 kJ-mol-?t
40~400 kJ-mol1 25~2.5%







~
\

2HI = 21 + H,

—

| — H H—I

kl
aA +bB === yY +7Z
kl



Ki _ CcCp _

K, C,Cq

dinK. AU

r m

dT I

din(k,/k.) AU
RT?




d




2HI - H,

180k J-mol-1




H—I
180k J-mol-2
21kJ-mol A U =159kJ-mol-!
180 kJ-mol-t H,+2l -2HI
21 kJ-mol-t

H, 2l [1...H...H...I]
180 kJ-mol-t A U= -159 kJ-mol-




Tolman













g=¢

E=LE .

(4-3-8)
~ dc
dt

8k, T
T

=€

1/2 —E /RT

1/2

e

~E,./RT

~E./RT

(4-3-13)

(4-3-9) (4-3-13)

C,C, = kc,C;

(4-3-14)




k = BT V2@ Ec/RT

dink _ 1

1 E,
+ =—_RT+E 4-3-17

E,=RT? RT “(

RT /2 2kJ-mol1
40~400 kJ-mol-1




Ky A

8kBT )1/2

k, = PA=PolL(

P




kO
NO,+CO - NO+CO, 120
H+l,— HI+ - 200
NO,+F, - NO,F+F- 1.6










_ d[(k1 T k—l)CA - k—ch o]
(kl T k—l)CA - k—1CA 0

n kch,O
(kl T k—l)CA B k—ch 0) ) (kl ' k_l)t

_ t
= (k, + k)t




Cee=Cao—Cac
kch,e: K_4 Cge™ k -1(CA,0' CA,e) 4-4-2

KiCao= Ki*+K,; Cpe 4-4-3a
Cao= (K; +k1)cAe/k
KiCa o= (Ky + K1) KiCa o/ K4 KiCa o= K.1 Cge
=(ky+k ) cge=(ky+k)(Cap-Cre) 44-3b
4-4-3 4-4-1

C Ch
In 22 = = (k, + k)t
Ca _CAe

kcAO
Mk K o)e, - =kt
-1 AO




k-ch,o: ky + K4 Cae

dc
= th = (k, +k;)c, — k—1CA,0
= (ky +k)c, —(k, +k)c,,
d(Cy —Cpp)

- dt = (k, +k_;)(Cc, — CA,e)

t=0 t=t
ICA d(c, —C

2e) [ k)l

C —
Ao Cp —Cp g

C
= = (k, + k)t
Cah Chec













t/min 0.00 21.0 36.0 500 650 80.0 100.0 o
Cg/ mol-dm 0 241 3/6 49 610 /708 811 13.28

Ky Ky

{00 CB — CB,e
Cg . =13.28 mol-dm-3

Cn ¢=Cpg—Cge=(18.23-13.28) mol-dm= = 4.95 mol-dm-3




In (CB’e— cg) t
- k1"'k-1
t/min 0.00 21.0 36.0 50.0 65.0 80.0 100.0

(Cg o -Cg)/mol-dm= 13.28 10.87 952 832 7.18 6.20 517
IN{(Cg . -Co)} 259 239 225 212 197 182 164

-9.88x 103min-1
k,+Kk_;=9.88x 10-3min-1

k,=7.18x 103min-!
k_,=2.68x 10-3min-1







U=- d;:tA =vu, tu, =(k, +k,))c, (4-4-9)

J-CA dCA _J‘ (k+k)dt

Ca 0

C
In 2= = (k, + k,)t

Ca

CA — CA’Oe_(kl-'-kZ)t










Bt AOf% D
E,,=120kJ-mol* E_,=80kJ-mol-
Ko;=1.00x 10%s? Kk, ,=1.00x 10%s?
1 T=900K 2 T=1200K
B

Kk = koe-Ea/RT




T = 900K
Cs _ ki _1.00x10" exp 80120 x10°

¢, Kk, 1.00x10" 8.314 x 900

) =0.477

T = 1200K

k, 1.00x10" _ (80-120)x10°
= exp(

=1.81
k, 1.00x10" > 8.314><1200)

T = 900K ¢, /c, =0.477 T = 1200K Cs /Cp
=1.81




(4-4-15)

(4-4-16)




(4-4-18)

O (e —e™*) (4-4-19)




Co=Cap~ Ca~Cg

1
kz _kl

(k,e™ —ke™)] (4-4-20)

Cp = CA,O[l_

c—t




BOX% D
2 k= 01Imint k,= 0.2min

= .dm-3 = _ .dm-3
Cp o=1.00mol-dm= ¢z 4= Cy,= 0 mol-dm
CA

CD
dc,/ dt=0




In(k, /k,)
k1 _kz

(4-4-21)

_In(0.1/0.2)
m o 01-02

Cp =Cho€ ™ =(1.00x€™****)mol [dm™ = 0.50mol [dm™

o = KCao
K, =K

0.1x1.00 , -01x693 N e—0.2><6.93

[02 0.1 (€

= 0.25moldm

t min =6.93min

(e —e™)

)]mol [@dm "




Co=Ca 0-Ca— GCg

= 100-050-025 mol-dm==0.25mol-dm-3







451  dc/dt

H,(9) + Cl(9) = 2HCI(9)
Cl, 0% 2Cl

Cl+H, Of% HCl+H
H+Cl, O HCl+Cl
2Cl O <,

4-5-1



(dg, /dty ( 0-1 0 0),y( O-1 00"
de, /dt| | -1 0 -1 1 -1 0 -11
dgo/dt|=| 0 1 1 0 0 1 10
de, /d 0 1-10 0 1-10

dc, /dt =-k,cqcCy,

dcg /dt = -k,Ccq —K;C,Cq +K,Cq
dc, /dt = k,cqcy —KsCyCq

dc, /dt = k,cqCy —KsiCyhCq

dc /dt = 2k,co —k,CqCyy +KsChCy — 2K,C4










dc, /d t=0

A BO D
K,C

CB = 1¥A.0
kZ_kl

(e—klt _ e—kzt)







dc,
oli

= kZCC = kZKCCACB: kZCACB







Cl, +H, - 2HCI

1 CI, - 2Cl k, E;=243kJmol-1
3 H+Cl, ~HCI+Cl ky E,=12.6kJmol-
4, 2Cl -Cl, k, E,=
ACha _ k.c.c, +k.c.c

— Raobta“h, chd de

2
= klcCI2 —K,Cq Cy, T KsCh Ca, ~ k,cq =0 (1)

(2)







K = 2k, (~y?
k4

-E/RT 1/2

K
= 2k _ 01 e
o ()

04

K,€e

=25+ 0.5x 243 =146.5kJImol-!







n

n=a +f +y ...

dChig

1/2

=key, Ca;

oli

1 Cl,
15

4-6-2
H,(g) + Cl,(g) = 2HCl(g







U,(1) = kai’,o (1)C|§,o
Uy (2) = kCZ,o(Z)CBﬂ,o

Cao (1) .

Uo (1) = ]

Uo(2) Caol(2)
100, ()10, (2)
Ig[C Ao D)/ Cpp(2)]




a ~B
Ca0CB,0

4-6-1
300K

Cp o/mol-m-3
Cg o/mol-m-3
U J/mol-m=-st
a p

1




e I9lv, (@ /0,(3)]  _ 19(108.0/27.0) _,,
lg[c, o (@) /c, (3]  19(1200/600)
1 2
B = 19lus()/00(2)] _ 19(108.0/64.8) 4
lg[cg (D /cs0(2)]  1g(500/300)
1 2 3

U, (1 _ P
K =— o _ 1028.0 7 S e
Cao(@D s, (D 1200° x500

—15x10 ‘'mol “n &

U,(2) __ 648
Cio(2)[,,(2) 1200 x300
=15%10 ‘mol” " [§

mol “ n &




270

mol™ [in° 3™
600 x500

ks =0, (3)/ Ci,o ©) e CE

=15%x10 "mol™” n° 3

K 1510 "mol % tm° 3™




Caol @=Cgo/b="...

cy/a=cg/b=...

k:k'(E)ﬁ...,n:a+/g+...
a

b ,Bd y a n
U=k(—c —C,) ¢, =k'c
(aA) (a s Gy A




I’:]L—l - rsz—l =(n-Dkt
Ca Ca0

1K R

2 Uc,"-t 1
3 t,,=(2"t-1)/(n-1)k







_ In(w,/v,)

IN(Caz / Cay)

n=

(4-6-5)




4-6-2
2C,He = (C,Hy),
599K

t/min 10 70 85
PA/Kpa /3.6 41.7 37.9
-dp,/dt/ kPa-mint  0.96 029 0.27

Ch=N, IV =p,/RT

_dc, __ 1 dp,
oli RT dt

U=




4-6-6
__In(,/0,) :m(dpA/dt)l/ln Pas
IN(Cai/Chz)  (dpy/dt),/  Pa,

_In(0.96/0.59) _
~ In(73.6/58.0)

In(0.59 /0.29) _ 5
In(58.0/41.7)

nNn =




dp
- =Kk, pa

_ dp, , o
Ko ===t | P»

K = 9P\ pa T min T =1.772 x10 " kPa "t min

t 73,62

= 09 1pamin ™ =1.754 x10™*kPa ™ min ™

 58.0°

p,2

K, 1.715% 10*

1.668x 104 1.879x 10* kp kp

k, =1.758x10 " kPa~ min"




Inp, In(-dp,/dt)

t/min 10 30 50 70 85

In( pa/ kPa) 42986 40604 3.8774 37305 3.6349
In(-dp, /dt )/kPa-min® -0.0408 -0.5276 -0.9163 -1.2379 -1.3093

d K

Pay _
IN(— =In—+(1-n)InRT +nl
(=) =Ino o+ W=mINRT +ninp,

In( - dp,/dt) In(py/ kPa)







4—1 n
4-6-3

CH,COOC,H; + OH-=CH,COO - + C,H.OH
25
6.40% 10-2mol-dm3

NaOH HCI
OH -

¢ / min 0.00 5.00 15.00 25.00 35.00 55.00
[OH -]/(mol-dm-3) 0.0640 0.0410 0.0250 0.0170 0.0140 0.0090

n

U = kc, ¢, =[OH -]=[ CH,COOCH]




C
K = Zin A

t C,
-2
, = (e in 240y it = 8.91x10 7 min
5.00 4.10x10

1 = 6.40x10°
k, = ( In -
55.00 90x10

ymin~ =3.57x10 “ min "




o : il . 1
5.00 410%x10°° 6.40x10 >

—=1.75mol - [@m° Oin
1 1 1

= ( - = =
55.00 90x10° 6.40x10°
= 1.74mol ~ ®m° Cmin

)Jmol ~ Cdim® Cinin

)Jmol ~ Ctim” Chnin ™~

1.71 1.73 1.60 mol-t-dm3min-1
k
k =(1.75+1.74+1.71+1.73+1.60) mol-t-dm3-min -1

= 1.71 mol ~1.dm3-min -1




In(c,/c®) c®/c,

t/ min 0.00 5.00 15.00 25.00 35.00 55.00
(c,/c®°) 00640 0.0410 0.0250 0.0170 0.0140 0.0090
In(c,/c®) -2.749 -3.194 -3.689 -4.075 -4.269 -4.711

c®/c, 15.6 24.4 40.0 58.8 71.4 111.1

(c,/c®) In(cy/c®) c®/c, t
A A A

Q
S
% 8.0
<

b~ AN
o
i

-
<




cel/c, t

k=173 molt.dm3min-?




4-6-7
1:1/ 2 — B CA,O

lgo—+(1—-n)l
RS

[¢

lg(ty, /[t]) lg(cae/lc])
1-n N

1o~ Cap




n-1

== (1-n)lg( AO)

CA,O




4-6-4 101.325kPa
2S P, 10.1325kPa

4-6-9

20 _,
10 .1325
101 .325

1
Paoly, 101.325x2

=4.93x10 > (kPa".s")




